Final Exam – CS 228 – Discrete Mathematics II

Fall 2005 – Professor Adams


Name ___________________ Possible Points this page 15  Earned Points this Page __

Propositional Logic  and Predicate Logic

Using prepositional logic, prove that the following argument is valid.   Use the statement letters shown following the problem statement.   


(9 points)

Gersting p 32 #44

If Joan took the jewelry  or Mrs. Krasov lied, then a crime was committed.  Mr. Krasov was not in town.  If a crime was committed, then Mr. Krasov was in town.  Therefore Joan did not take the jewelry.   J, L, C, T   

Justify each step in the following proof sequence of    

(6 points)Gersting p. 57 - #7

 (∃x)P(x)∧ (∀x)(P(x) → Q(x)) → (∃x)Q(x)

1. (∃x)P(x)

2, (∀x)(P(x) → Q(x))

3.  P(a)

4.  P(a) → Q(a)

5.  Q(a)

6.  (∃x)Q(x)

